
1. 2a = −3b 일 때,
4a2 − 3b2

2ab
− a − b

a + b
의 값은?

① −9 ② −7 ③ −5 ④ −3 ⑤ −1



2. a : b = 2 : 5 일 때,
(2a5b3)3

(−a4b2)4
의 값은?

① 4 ② 8 ③ 12 ④ 16 ⑤ 20



3. 다음 조건을 만족할 때, 상수 A, B, C, D, E 의 값이 아닌 것은?

㉠ 4(x2 − 3x) − (3x2 − 6x + 7) = Ax2 + Bx − 7

㉡
2x2 − 3x + 1

2
− x2 − 2x + 3

3
=

Cx2 + Dx + E
6

① A = 1 ② B = −6 ③ C = 4

④ D = −5 ⑤ E = 3



4. x = −1, y = 2일 때, (30x3y3 − 15x2y)÷15x2y − 9xy2 + 12x2y4

3xy2
의

값은?

① −28 ② −26 ③ −12 ④ 4 ⑤ 8



5. a < b 일 때, 다음 중 옳은 것은?

① 3a − 2 > 3b − 2 ② −2a + 1 < −2b + 1

③ −5a − 3 > −5b − 3 ④
a
4
− 7 > b

4
− 7

⑤ 2a + 1 > 2b + 1


